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QUESTION 51 
Which configuration is required when implementing Mobile and Remote Access on Cisco Expressway? 
 

A. IPS 

B. SAML authentication 

C. Cisco Unified CM publisher address 

D. SSO 

 
Answer: C 
 
QUESTION 52 
A Jabber user is being prompted to trust the Expressway-E certificate when using Mobile and Remote Access. The 
administrator has validated that the Expressway-E certificate is being trusted by the machine running the Jabber client. 
What else can be done to solve this problem? 
 

A. Create a new CSR with new information on the SAN field. 

B. Include Cisco Unified Communications Manager registration domain in the Expressway-E 
certificate as a SAN. 

C. Change the domain name. 

D. Change the FQDN of the Expressway. 

 
Answer: B 
 
QUESTION 53 
Which two items are configured when deploying a B2B collaboration solution? (Choose two.) 
 

A. SIP trunk between Cisco Unified Communications Manager and Cisco Expressway-C 

B. search rules in Cisco Expressway-E 

C. SIP trunk between Cisco Unified Communications Manager and Cisco Expressway-E 

D. traversal client on a Cisco Expressway-E 

E. DNS zone on a Cisco Expressway-C 

 
Answer: AB 
 
QUESTION 54 
Which two statements about Cisco Webex Video Mesh Nodes are true? (Choose two.) 
 

A. When Expressway Core works with VMN clusters, Expressway Core decides which VMN is 
used for signaling/media connection. 
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B. Cloud-registered devices choose a VMN cluster based on the lowest STUN round trip delay. 

C. The cascading traffic between VMN must bypass the firewall. 

D. When Cisco Unified Communications Manager works with multiple VMNs, Cisco Unified CM 
decides which VMN is used for signaling connection. 

E. A VMN can terminate a media connection while operating in maintenance mode. 

 
Answer: BD 
 
QUESTION 55 
While troubleshooting a connectivity issue between Cisco Unified Communications Manager, Expressway-C, and 
Expressway-E, an engineer sees this output in the Expressway-E logs. 
Event="Authentication Failed" Service="SIP" Src-ip="10.50.2.1" Src-port="25723" Detail="Incorrect authentication 
credential for user" Protocol "TLS" Method="OPTIONS" Level="1" 
What is the cause of this issue? 
 

A. The Expressway-C Traversal Server username/password do not match the Expressway-E 
Traversal Zone username/password. 

B. The Expressway-C Traversal Client username/password do not match the Expressway-E 
Traversal Server username/password. 

C. The Expressway-C Traversal Zone username/password do not match the Expressway-E 
Traversal Zone username/password. 

D. The Expressway-C Traversal Zone username/password do not match the Expressway-E 
Traversal 
Client username/password. 

E. The Expressway-C Traversal Server username/password do not match the Expressway-E 
Traversal Client username/password. 

 
Answer: B 
 
QUESTION 56 
A company has a traversal client that resides in the DMZ in the enterprise network and has a requirement for B2B 
calling. Which Cisco Collaboration Edge component addresses this requirement? 
 

A. Cisco Expressway-C 

B. Cisco TelePresence ISDN gateway 

C. Cisco Expressway-E 

D. Cisco Unified Border Element 

 
Answer: C 
 
QUESTION 57 
What is a key configuration requirement for Hybrid Message Service High Availability deployment with multiple IM and 
Presence clusters? 
 

A. You must have the Intercluster Sync Agent working across your IM and Presence clusters. 

B. You must have the Intercluster Lookup Service working across all of your IM and Presence 
clusters. 

C. Your IM and Presence Service clusters must have Multiple Device Messaging disabled. 

D. AXL service should be activated only on the publisher of each IM and Presence cluster. 

 
Answer: A 
 
QUESTION 58 
Which DNS record and port combination must be resolved externally for Mobile and Remote Access to be used? 
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A. _collab-edge on port 8443 

B. _cisco-uds-edge on port 5061 

C. _collab-edge on port 5061 

D. _cisco-uds on port 8443 

 
Answer: A 
 
QUESTION 59 
Cisco Collaboration endpoints are exchanging encrypted signaling messages. 
What is one major complication in implementing NAT ALG for voice and video devices? 
 

A. Internal endpoints cannot use addresses from the private address space. 

B. The NAT ALG cannot inspect the contents of encrypted signaling messages. 

C. NAT ALG introduces jitter in the voice path. 

D. Source addresses cannot provide the destination addresses that remote endpoints should use 
for return packets. 

 
Answer: B 
 
QUESTION 60 
Which step is taken when configuring a Cisco Expressway solution? 
 

A. Configure the Expressway-E by using a non-traversal server zone. 

B. Enable static NAT on the Expressway-E only. 

C. Disable H.323 mode on the Expressway-E. 

D. Enable H.323 H.460.19 demultiplexing mode on the Expressway-C. 

 
Answer: B 
 
QUESTION 61 
What are two reasons why port 8443 is unreachable from the Internet to the Expressway-E? (Choose two.) 
 

A. The MRA license is missing on the Expressway-E. 

B. The Unified Communications zone is down. 

C. Transform is not configured on Expressway-E. 

D. The SRV record for _cisco-uds is misconfigured. 

E. The firewall is blocking the port. 

 
Answer: DE 
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